
General hazard information:

• The screws for mounting the TV must not be too long, otherwise the TV could be
damaged inside.

• Please ensure that the cables are not damaged during installation. Damaged cables
must be replaced immediately to avoid short circuits.

• Screws must always be screwed in straight way. Please do not damage the threads
of the screws, otherwise the stability of the product cannot be guaranteed.

• Observe the weight limit of the respective TV mount as specified:
www.wissmann-raumobjekte.de

• TV mounts are not suitable as children's toys (damage to the product and risk of
injury can be the result of improper handling)

• Claims for damage or possible warranty claims due to incorrect installation or
incorrect handling cannot be made to the manufacturer.

• Products made of glass: observe the weight limit at
www.wissmann-raumobjekte.de.
Caution, glass is brittle and splinters if tilted. Always place on soft surfaces. Broken
or splintered glass is a risk of accidents and should therefore be disposed of
immediately.

• TV mounts with wheels: replace stiff wheels to avoid damage to soft wooden floors.
• TV mounts with a rotating function: To prevent damage to the cables due to

tension, insert them loosely so that the cables are not pulled too tightly when
the TV is rotated. To avoid chafing of the cables, use the spiral cover as cable
protection at the cable entry.

• TV mounts with a rotating function: If a rotation axis is stiff (TV can hardly be
rotated or cannot be rotated at all), please stop using the product and contact
the manufacturer immediately: info@wissmann-raumobjekte.de

• TV mounts for wall mounting: our dowels are not suitable for all types of walls.
Therefore, only use dowels suitable for your wall.

• TV mounts for wall mounting: If the wall holes were drilled too large, be sure to
use larger dowels or alternatively adhesive dowels.

• TV mounts for wall mounting: The load-bearing capacity of the wall must be
ensured by the user (the upper screws of the wall bracket bear the weight of
the TV under tensile load)

R U R S T R . 6 - 4 1 5 6 4 K A A R S T – G E R M A N Y

P H O N E : 0 2 1 3 1 / 4 0 2 8 2 8 1 F A X : 0 2 1 3 1 / 4 0 2 8 2 8 4



TV-mount post art129 installation instructions

I.) installation of the vertical column (time required about 30 minutes)

1) Put the vertical column to the position desired and mark it to the ceiling.
2) Ceiling: screw the upper disc (56 mm) ) or ring (in case cable from upside) to the

ceiling by using plugs and screws (6 x 80) (the upper disc fits into the vertical
column)

Note: the notch of the disc has to point to the backside
Note: for ceilings built of plaster boards special plugs have to be used.

3) Put the disc (85 mm) to the floor, plug in the vertical column to the ceiling disc,
put the lower M12 screw into the lower disc and and mark the disc to the floor.

Note: make sure, the column is perfect vertically

4) Floor: Screw the disc 85 mm to the floor.
Note: be carefull if floor heaters are installed (or glue the disc to the floor)

5) Column: before installing the vertical column between ceiling and floor, all the
accessoiries have to be installed to the column. Stuck from the lower side of the
column (where the M12 screw is) as follows:



a) TV rotation with or without arm (openings in the swivel-arm point
downwards) –distance about 100 cm from downside of column
Note: the nose (red arrow) shows to the downside

b) Ring to fix the swivel arm in the right height.
Note: the nose of the ring (green arrow) shows to the upside

c) Move the ring to the desired height and tighten softly the screws of the
ring

d) Lower DVD Board
e) Ring to fix the right height of the DVD Board
f) Lower stainless steel cover. (this covers the lower M12 screw)



6) Plug the vertical column into the ceiling disc and put the M12 screw into the floor
disc. Tighten the M12 screw and clamp the vertical column between ceiling and
floor

7) Tighten the M12 threaded pin on the base (green arrow) and so press the bar
from the base against the cover to brace.

8) Tighten the upper nut (red arrow) on the column bar and so firmly attach
the M12 threaded pin (lock).

9) Then place the cover (stainless steel cover) down onto the base plate.
10) The height of the TV swinging arm (recommendation 100cm from the base) as

well as the DVD board can be adjusted by moving the fixing ring.

II.) Installing the flatscreen TV

1) Install the flat struts horizontal to the rear of your TV by using 4 of the 8 washers (the
4 headless screws of the struts have to show away from the TV).

2) Info: Due to the length of the TV installation struts, the TV can me moved horizontally to
the best position.

Note: The installation of the flat horizontal struts has to be done by using the screws
provided with your television. If these screws are too short, they’ll have to be
replaced by longer ones.
Note: Please check, that the longer screws are not too long. –If the screws touch
the TV inside, the TV could be damaged. NEVER use screws which are too long.
Note: for your support, we included 8 x M6 and M8 screws (max. 4 of these screws will
be needed).
Note: if the cables have to be plugged into the TV behind the lower horizontal strut,
please either do not use this strut or use the black plastic distance elements.



3) The 4 screws of the horizontal struts at the rear of the TV have now to be inserted in
the vertical strut (two people should hold the TV). Adjust the TV to the position
required (would help, if a third person can check that from a distance) and then
screw it tight at the rear using washers and the 4 M8 nuts. Hide the nuts by using the
black plastic covers.

4) Decide for the height of your TV my positioning the ring to the height desired
and tighten the screws of the ring

5) Insert the cabling into the arm, routing it towards the vertical column and insert the
cables into the vertical column downwards to the floor.

6) put the plastic cover around the cables where they enter into the vertical stainless
steel column. –This plastic cover is to protect the cables.

Note:

If the installation of your TV is not possible even by using one of our accessory kits,
please contact us by sending a photo of the TV´s backside:

info@wissmann-raumobjekte.de

We will find a solution immediately.

Final information:

This TV mount is produced in finely brushed stainless steel. Stainless steel surfaces are
sensitive for fingerprints. We did a special surface protection and recommend to renew
that every few months to avoid spots of fingerprints (a small bottle “Chromol”to renew
the surface protection is added)


